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OR (3121an)
Describe the composition of ionosphere and explain
their effects on sky wave propagation.

AMAAIH IR DY AXGAT BT 9uid B a2l
IRAT B fb TSI T THT WR DT
T Y919 Usdl 87

8. What are the advantages of digital communication.

8
fefted daR & FT—FIT 19 27

OR (3121a1)

Make a comparison between space wave

propagation and ground wave propagation.

A ORI T dAT AT T A AT
X |

9. Explain radar blind speed.

TSR sdlg~s Rus &1 quiv & |
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Time : 3Hrs. Sem. V-EC
RTS
Full Marks : 80

Pass Marks : 26
Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question
carries 4 marks.
gu-B 9wt uig gl & SR <, UAD U BT AH 43b e |
Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & it ufg 9ol & SR <, TAS U &1 A9 83 2 |

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

TP YT & 9] 3 BT SR UP &) oiE (AR HH H)
BI9T A1, 3wedT 4 Sifd 2] oI 9&d @ |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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4.

6.

What is mixer circuit? Draw its block diagram.

4
frerar aRuer «a71 387 sUaT IRNE Ts w4

OR(372rdT)
State and explain blind speed and radar clutter.

1SS dTdl 3 VSR delcex &I auid iy
AT BN |
What do you mean by telephone traffic? Explain

briefly.
4

cforpia Sfhd @ sy T gusd 27 9ay A
A |

OR(3721dT)

What is sporadic E layer. Explain briefly.
WRISH E-uRd &1 27 §&9 H qa |

Briefly explain the principle of hetrodyning. 4

0T5030

(i)

(i)

(iii)

(iv)

3 21503

]I A1 <1 Afte YA Rivaa a1, @
AT, TP & d9dd d A Bl
Ped B—

(31) wrgadfeT

(@) AfecwraliT

(¥) faraT

(€) g 4 »Ig 7L

Medium wave broadcast is employed for:
(a) International broadcast

(b) National broadcast

(c) Regional broadcast

(d) None of these

wegd T gAYl feaa fov arqer #
AT 8?

(31) IfaTSETT YRl |

(@) IsT gaRT §

(@) & gaRr o

() 399 & dIs T8l

The AGC voltage is radio receiver is
proportional to

(a) 9F frequency

(b) Amplitude of audio signal

(c) Depth of modulation

(d) 9F amplitude

P.T.O
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() FTS~s AR &I WA b gl &

9= giar 27

(31) 3 KHz to 30 KHz
() 30 KHz to 3 MHz
(&) 3 MHz to 30 MHz
() 30 MHz to 300 MHz

GROUPB

Answer all Five Questions.

g uig g & SR o

2.

4x5=20

What do you mean by directivity and gain of
antenna? Explain each briefly.

srgvafefad v ufeeqar 19 @ Iy =T
I 2?7 UAD bl G899 H AT a |

0T5030

(vi)

(vii)

(vii)

(viii)

5 21503

HIeHd &I STel ¢ Ye fead |mr
SITdT 87

(31) s¥cH ufa do-s

@) I e

(@) dica ufa ad-s

(?) Awmedw

AGC circuit vary the gain of the .............
amplifier.

(a) RF

(b) Tuned

(c) 9F

(d) Untuned

Tooflo¥flo URuer ... VB RR &
A9 P dqaldr 2 |

(31) RF

@) fegs

(|) 9F

(<) srfey=s

The D-layer in the ionosphere during day
time:

(a) Splits into two layers

(b) Disappears

(c) Exists

(d) Moves away from surface of earth

P.T.O
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(xvi)

(xvii)
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10 0T5030

S0 GEIRY RS L2 L S NESEIDN
Bd ©

(@) ass—dvs

@) T—-a=

() () 3 (@) <=

(®) g A »Ig Ll

The frequency range of EHF is from 30 GHz
to 300 GHz, the corresponding wave length
will be:

(a) 10mm to 1mm

(b) 10 cm to Icm

(¢c) Iecmto 1 mm

(d) None of these

EHF &1 3mgR1 fawar 30 GHz ¥ 300 GHz
Bl 2, SU® WIA R ol fHa-
gfY?

(31) 10mm to 1mm

(@) 10 cmto 1em

(|) Icmto 1 mm

(@) s Q@ B 7L

Space waves are.................. polarizzed.
(a) Vertically

(b) Horizontally

(¢) (a) and (b) both

(d) None of these

0T5030

(x)

(xi)

(xi)

(xii)

7 21503

fafagr Rt vy fog yer yailRa
g 87

(a1 wfe a=T

(@) w=g9q a3

(d) VHF

() T4 9 BIg &

Which system is employed to exact
positioning or spot on the globe?
(a) EMI

(b) MRI

(c) GPS

(d) None of these

Tl & fedl R a1 e o1 98l
udT oA @ g @i 1 yomell Suar
¥ o1g rdl 87

(31) EMI

(3) MRI

(") GPS

(@) 37 9 BIg el

The critical frequency of an ionospheric
layer during day time is........... than that of
night time.

(a) Less

(b) Same

(c) More

(d) None of these

P.T.O
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10.

11.

OR (3121a1)

Define and explain resonant and non-resonant

antenna.

IoiF~e AT A9l Cfeeqar & aRymr
3R AT DY |

Why is antenna used in communication system?

Explain the advantage of horn antenna?

AR guirell § Qfrear Y qgrR A @

Srdr 2?7 8i4 Ufredr @& @l @) fad=an &) |
OR (3721d1)

What are different types of radio signal fading and

how are they caused?

I Rraa wf$T & A= yor Far 272
3R 9 fp9 gdR SA— BId 27

Explain surface wave propagation. 8

P.T.O

21503 17 0T5030

10.

11.

OR (312141)

Define and explain resonant and non-resonant

antenna.

YoliF~e AT F9-—oli+< Cfeqr & aRymer
3R aT=HAT BN |

Why is antenna used in communication system?

Explain the advantage of horn antenna?

AR gorelt § Qfrear «If @ragR 3 @

STl 22 Bid Qftedr & ol @) faaaar & |
OR (3721dT)

What are different types of radio signal fading and

how are they caused?

IeA Rraa of$T & A= yor Far 22
IR 4 fH9 gdR Iaa—~ Bd 27

Explain surface wave propagation. 8
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